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From TV News
The Governor of Tokyo said...
“I don’t believe the

opinion poll, because

they surveyed only 1000
people or so.”




Is 1000 too small?

1000 1s :

1000/127,500,000 = 1/127,000 = 0.0008% of the
total population of Japan,

1000/12,140,000 = 1/1214 = 0.08% of the
total population of Tokyo.

But!



Calculation of SE

e 1. sample size
e : population rate
o SE: Standard Error
SE =~/( (1- )/n)
=< +/(0.5(1-0.5)/1000) = 0.0158
If p is around 0.1, then
SE = +/(0.1(1-0.9)/1000) = 0.00949 1%



Estimation of error
SE =~/( (1- )/n) depends only on = and n,
l.e., It does not depend on the size of population!

e |n this case, the value of the error is around 2-3%.

e [f n=1000><4=4000, the error is reduced by half.
* [n many case, the estimation by a sample with n=1000 is reliable.

«—

e On the other hand, we assume random sampling in the above
estimation, which can be suspected.






	統計Ⅱ（ＭＩ）第4回　Ｆ分布・母比率に関する推測
	［再確認］統計Ⅱの内容
	今日の授業の概要：
	［復習］6.2 独立な2標本にもとづく母平均の差に関する推測（1）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（2）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（3）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（4）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（5）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（6）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（7）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（8）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（8）
	［復習］ 6.2 独立な2標本にもとづく母平均の差に関する推測（9）
	6.3 等分散の検定（F分布）（その1）
	6.3 等分散の検定（F分布）（その2）
	6.3 等分散の検定（F分布）（その3）
	6.3 等分散の検定（F分布）（その4）
	6.3 等分散の検定（F分布）（その5）
	6.3 等分散の検定（F分布）（その6）
	6.3 等分散の検定（F分布）（その7）
	6.3 等分散の検定（F分布）（その8）
	等分散の検定に関する補足
	［再確認］統計Ⅱの内容
	6.5 母集団比率に関する推測（1）
	6.5 母集団比率に関する推測（2）
	6.5 母集団比率に関する推測（3）
	6.5 母集団比率に関する推測（4）
	6.5 母集団比率に関する推測（6）
	From TV NewsThe Governor of Tokyo said…
	Is 1000 too small?
	Calculation of SE
	Estimation of error（誤差の評価）
	平成14年度試験問題より

